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A2 4414

Let f be defined by

r+95  x<2
flzg)=¢ Az + B, = 2<z<T
2¢c+13 = T<z

Find the values of A and B which make f continuous everywhére?,
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A2.5 #7

i) Decide if the following limit exists lim snatlenss .
P tan z-+1

4

Yes
No

ii) If so, evaluate it. Otherwise enter DNE.

(Use symbolic notation arid fractions where needed.)
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A2.8 #5

Find an interval (@, b) of length 1 and so that we may use the values of the

expression ze? atthe endpoints of the interval and the intermediate value
theorem to show that the equation

s

= 2

xre

has a solution in the interval (a, b).
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B3.1#6

Find f(3) and f'(3), assuming that the tanger|1f Iine toy f(a:) at @ = 3 has
equationy =6 x + 2.

F(3) = | ;
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B3.2 #13

The following is a graph of the function f(z) = e® — ba :
b :

L =8|

Sketch the graph of f ().
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B3.6 #4

If f(z) = 10sin*(z) then f'(z) = { H - 8
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B3.7 #9

Given the following functions: f(z) = cos(z) sl g(z) = =" + 1i Fing:
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B3.11 #10

A police car is traveling south on Hwy 43 toward Sioux City at 180 km/h and a truck is
traveling east away from Sioux City, 1A, at 120 km/h (See figure below).

Stoux Falls >
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Attime ¢y = 0, the police car is 50 km north and thé truck is 30 km east of Sioux Falls.

Calculate the rate at which the distance between the vehicles is changing after;,lIOE‘

minutes.
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(Use decimal notation. Give your answer to three de{?i_mal. places.)

The rate of change of the distance between the vehic‘les‘ is

= | UwN V‘ h,

Corv 14 QU"ZL

15V =

V\emﬂwr S Uk &q}'ﬁ

S 0 =0 =iy
2 20 luw,






C4.7 #2

Find a positive number 2 such that the sum of 252 and %is as small as possible.
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Does this problem reqtjire optimiiéfff:yh' ovér an open interval or a closed interval?
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